PnTol ApIBuol




NQa OTTOAOYICETE TIC TIMEC TGV TTAPACTATEWV:

1. —(+5)—(-7)=

2. ~(83-2)-(5+3)-(-7+10) =
—5+(-3+5)—-(-3-2) =

 1+[5—(-6+2)]

-6+

PP (-7+3)*—(-2)* =

. —6°+(-3)° +(-6+5-2)—(-5+3°+2) =



—(+5)=(-7)= —9+(-3+9)-(3-2)=
-(45)~(-7)- 5

2517 =42 —2+ (G
—5+2+5=

—(-3-2)—(-5+3)— (-7 +10) = —o+ 1 =+2

pp2) = (3) = 1+[5—(-6+2)] =

+5+2-3= 1+[5_(_4)]:
+/-3=+4 1+ (5+4) =

1+9=10




‘OTAN EXOYME

MAPENOEZH MNA NA —6° +(-3)° +(-6+5-2)—(-5+3 +2) =
BTAAOYME TO
MPOXHMO
—6° +(-3)° BOOET e EIA 67+ (=3)"+(-6+5-2)~(-5+9+2) =

APTIOX A MEPITTOX

—36+(+9) —36+ (+9) + (—8+5) — (-5+11) =
—36+9 =27
-36+9+(-3)—(+6) =
—36+9-3-6=
12— (-7+3)?—(-2)? = j
= —45+9=-36

I —(-4) - (-2)" =
1-(+16) - (+4)
1-16-4=-19




